Mr Whoops' Juggling Mudadle!

Clumsy Mr Whoops has been juggling with this week’s in- prefix words and he's got in a real juggling muddle!

Could you help him to unjumble each word using the clues to help?
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Which two spelling words hasn't Mr Whoops muddled up? Could you use each of them in a separate sentence that contains a subordinate clause?
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Mr Whoops' Juggling Muddle Answers
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Which two spelling words hasn't Mr Whoops muddled up? Could you use each of them in a separate sentence that contains a subordinate clause?

Accept TWO complex sentences that contain ‘incorrect’ and ‘incomplete’, e.g. Yasmin got all her answers incorrect because she hadn’t practised. AND As they hadn’t
had much time in the art lesson, the pupils’ paintings were incomplete.
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